
 

 

Answer on Question #61839 – Math – Algebra 

Question 

Find the values of x where the line 𝑦 = −2𝑥 + 20 intersects the 

 𝑦 = 2𝑥2 + 3𝑥 − 22. 

 

Solution 

If the line 

𝑦 = −2𝑥 + 20 

intersects the 

𝑦 = 2𝑥2 + 3𝑥 − 22; 

then 

−2𝑥 + 20 = 2𝑥2 + 3𝑥 − 22; 

2𝑥2 + 3𝑥 − 22 + 2𝑥 − 20 = 0; 

2𝑥2 + 5𝑥 − 42 = 0; 

                                                                       𝑎 = 2,  𝑏 = 5,  𝑐 = −42; 

𝐷 = 𝑏2 − 4𝑎𝑐; 

𝐷 = 25 + 4 ∗ 2 ∗ 42 = 361; √𝐷 = 19; 

𝑥1 =
−𝑏 − √𝐷

2𝑎
=

−5 − 19

4
= 6; 

𝑥2 =
−𝑏 + √𝐷

2𝑎
=

−5 + 19

4
= 3.5; 

So, 

𝑦1 = −2𝑥1 + 20 = −2 ∙ 6 + 20 = 8; 

𝑦2 = −2𝑥2 + 20 = −2 ∙ 3.5 + 20 = 13. 

 There are two points of intersection: (6, 8) and (3.5, 13). 

Answer: (6, 8), (3.5, 13). 
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